

### UNITED PUBLIC AID ASSOCIATION

(A Helping Hand To Everyone) www.unitedpublicadiaciation.com

#### **MEMBERSHIP FEE RS 699/-ONLY**

#### MEMBER BENEFITS:

LAVEL	MEMBER	LEVEL INCOME	INCOME	REWARD
1.	5	100	500	Nil
2.	25	70	1750.00	1500
3.	125	60	7500.00	5,000
4.	625	50	31,250.00	20,000
5.	3125	40	1,25000.00	50,000
6.	15625	30	468,750.00	150,000
7.	78125	20	15,62500.00	450,000
8.	390625	10	39,06250.00	20,00,000
TOTAL			61,03,500.00	26,76,500

- 1. FREE AMBULANCE HELP IN EMERGENCY 1000 CASH.
- 2. FINANCIAL HELP OF RS. 5000/- TO 20000/- IN ACCIDENT CASE. (\*T&C)
- 3. FINANCIAL HELP RS.2000/- TO 10,000/- TO FAMILY MEMBER IN CAS OF NORMAL DEATH OF MEMBER.
- 4. MARRIAGE HELP UPTO 25000/- (\*T&C)
- 5. AND MANY OTHER BENEFITS.
- 6. INSURANCES BENEFITS 2L
- 7. SKILL DEVLOPMENT TRANING
- 8. YEARLY RENEWAL BENEFIT
- 9. YEARLY BONOUS RS. 10,000/-(\*T&C)

**NOTE**. EVERY FACILITY WILL BE START AFTER 90 DAYS.

5% TDS 5% Admin Charge 5% Helping To Each Other Wallet



### UNITED PUBLIC AID ASSOCIATION

(A Helping Hand To Everyone) www.unitedpublicadiaciation.com

# 15TH APRIL TO 30TH MAY

- 5 MEMBER DIRECT 2LACK INSURANCE +ID CARD
- 25 MEMBER WITH TEAM RS 2000/-BONUS
- 75 MEMBER WITH TEAM RS 5000/-BONUS
- 125 MEMBER WITH TEAM BIKE / SCOOTY DOWAN PAYMENT RS.20,000/-
- 625 MEMBER WITH TEAM CAR DOWAN PAYMENT 1 LACK.
- IF YOU JOINING NEW 30 MEMBERS EVERY MONTH
- THEN YOU WILL GET RS 3000/- MONTHLY FOR BIKE SCOTTY EMI
- IF YOU JOINING 125 MEMBERS EVERY MONTH WITH TEAM THEN YOU WILL GET RS 7500/- FOR CAR EMI











DONATE

### UNITED PUBLIC AID ASSOCIATION

(A Helping Hand To Everyone) www.unitedpublicadiaciation.com

OUR VISION.

Development and application of knowledge, Help & Sanitation towards development of sustainable society that promotes and protects"

## UNITED PUBLIC AID ASSOCIATION

It 's a opportunity to help to needy people









# Crowdfunding can help you raise funds online

Crowdfunding leverages the power of social networks and the internet to give people the means to raise funds for medical and social causes. With crowdfunding, you can receive donations from friends, family, colleagues, and even strangers.



## Soft Skills Corporate Training

Equipping your workforce with corporate soft skills is key to building an agile and resilient organization.

Our corporate soft skills training programs develop the human capabilities that drive performance – communication, collaboration, critical thinking, and more. Our corporate soft skills trainers work closely with your team to identify needs and objectives, then deliver targeted training on topics like leadership, emotional intelligence, change management, cross-cultural communication, conflict resolution, customer experience, and presentation skills.





